1:2
1 (

, 500

VI-IC 51—4)

MET &P Et e &

‘5;(

+43.5

+435.0

+42.5

+42.0

-74.0

-73.5

-72.5

-72.0

|

- =

-74.0

-73.5

4 (IC61-2)

-72.5

+43.5

+43.0
v
Q\
O
S
N

+42.5

|

(VI-IC 51—4)

3 5
(1C61-1) 61-2) (1662- 1"~
= —
50 =
] ] saegewn | 2372 = & =
B25.62 X # &
1] =25mw | o423 353NN
B v3s.6 AEZES
PR | e 17 B &> =g i /\5\\
T SEmED m25.72 A58 ES
o, £37.21 mrE®%aA
T EoomEs 12.3 BEEELEY
s BrARE
@) T A B P
N oW s B M
A B B 5 L = "
& BB = N - -
® B E R t u &
WK HMEES " A
X TE - EER < 73 S
v M oB B - [ =
® BERER V/~ kymLeso
@B OXF N
O il Q IRITHT (B
= 7o = ES BT (B
=R = B o B - AAH
+ TURLHE 4 ' =
X =2 " O g9 v 2
%) SREE - REE i = S
® RN ] o= B I
m AR — L r g B B
® ® & A s A ES
53 " & fos 9] =
o i 5 = X AT 8 B
® %A@ s - e} =
W) B & o b O
Py P - S Bk - IS0
1 T 5 &b BR - HR
o £ ® & & R B B
2 BRI B a B
L AT - TR
(@) AU DRI IR oo H A0
@ 5t % 5 { N\ (N
o ® " T &
—— BB EE g & % oa
T E B OB ®H OB
B
———————— ® 5 ® = =
C(ERY) _BRboss
_(BEP) REOHEE = S
7777777777 %é%%ﬁ&U%ﬁﬁ
_— — SE - DEE
= 1L
—— % B B
[N DR TT =
E B OE
—{__— #HEDEE\F
e 18
- = —— R
e =" RUFEBF
T e
uuuuu N . s 3 o=
—————— X & ®
el W
e n L A R B o+ =/
- B - — —— HOoo# R
B oo N R
T E e RE T mwEtoRR
— —F B R
———— e — dbEEOE AR
— —— —Xx7-W-TBR
— e — T - FRHORR __h = o=
I I} W
B 25 E s
I o) i
v o \4
zOM0
Jui] SOVt
. == N
M SR) 0
L |aue zw | | Low
3
IS Sy @ EOE | T | wln
ol TNl o ol #w o | B
Y A - ~
s E O \
R i oL R i
Y [ BN
°
e |
©

Y1 3FEE
R 2 A FEEIE

1.3FR% T 14
2. ¥/ 3F
3. ¥R2 3F
4, FR2 AF

8 FiRFZEPER
1 Bt AE
OR/BFRPER
S BRAE

50

100

200

1:2,500

300

400

[CORBRRE. EXERKOEGERUBSZF CERMEDRERIUAE
REMBLTEZEOTHSD BEFS) F11 1 %805

500nm

[COREMRIEG. BXERROBRRUBSZF CERMEDIERRE
ERLTHEZEOTHSD BEFS) F23 12 %975

zZrEFEERGTE = il

FOB<EHZZITD

EFERATYHR 1 4EGEEIXBESREOSORTIC

FoOEVII EEXR

(THESEREBEEIHERAUBRICID)

BEITEXILABILRE

HBICEXEFILTHDIDEEBBREFOX—KNILEA
BEEO. 5F0X—~/)LER
SEIOEEIRTRREODYYEE

EEROBRELE2 X —b

JL

|

(VI-IC 51—4)




